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A= XMEE# |18 5| FTH | F B | @| FY | x* B @B FH| L Bl 8| FTH| F K
g 8 2] 2] g 8
0+ 00 3.20
0+ 05 0.5 3.20 3.20 1.6 2.3 1.2 1.59
0+ 60 5.5 3.60 3.40 18.7 2.3 2.3 12.7 1.2 1.2 6.6 1.59 1.59 8.7
0+ 100 4.0 3.60 3.60 14.4 2.3 2.3 9.2 1.2 1.2 4.8 1.59 1.59 6.4
0+ 200 10.0 3.60 3.60 36.0 2.3 2.3 23.0 1.2 1.2 12.0 1.59 1.59 15.9
0+ 225 2.5 3.60 3.60 9.0 2.3 2.3 5.8 1.2 1.2 3.0 1.59 1.59 4.0
0+ 240 1.5 3.60 3.60 5.4
N E 240 85.1 50.7 26.4 35.0
& & 24.0 85.1 50.7 26.4 35.0
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L WE—NE BRREE L
B o= XMEeE |08 & F B B m| F B &
B B8 Wr M
0+ 05 4.10 0.5
0+ 6.0 5.5 4.10 4.10 22.6 0.5 0.5 2.8
0+ 100 4.0 4.10 4.10 16.4 0.5 0.5 2.0
0+ 200 10.0 4.10 4.10 41.0 0.5 0.5 5.0
0+ 225 25 4.10 4.10 10.3 0.5 0.5 1.3
I
0+ 0.5/ O1AI1.2 12
0+225/A1AI1.2 12
N 22.0 92.7 11.1
= 22.0 92.7 11.1
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# = = No.4
_ TERMREISHR

- HEREL

B o= XREERt |Br m| F 9 | I FE
Br @

0- 60 0.5
0+ 00 6.0 0.5 0.5 3.0
0+ 05 0.5 0.5 0.5 0.3
0+ 6.0 5.5 0.5 0.5 2.8
0+ 100 4.0 0.5 0.5 2.0
0+ 200 10.0 0.5 0.5 5.0
0+ 225 25 0.5 0.5 1.3
0+ 240 1.5 0.5 0.5 0.8
N E 30.0 15.2
& i 30.0 15.2




_ _ TERMEEIS
SRR - R HEEl TR B TEEEIE
A= XMEE# |18 5| FTH | F B | @| FY | Z2 Bl 8| FH | F B |8 B|FTH| F &K
g 8 2] g 8 g 8

0+ 00 5.50
0+ 50 5.0 5.50 5.50 215 0.60 3.00
0+ 90 4.0 5.50 5.50 22.0 0.60 0.60 2.4 3.00 3.00 12.0
0+ 120 3.0 5.50 5.50 16.5
0+ 00 0.0 5.50
0+ 50 5.0 5.50 5.50 215
0+ 50 0.0 2.50
0+ 90 4.0 2.50 2.50 10.0
0+ 90 0.0 5.50
0+ 120 3.0 5.50 5.50 16.5
N E 66.0 24 12.0 54.0
& & 66.0 24 12.0 54.0
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3.00

4.0 3.00 3.00 12.0
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400 100
510
10.0 m ED)
T f& B K B $ & ik o
ar 7 y—h 0. 4%0. 5%10=2. 0 21-8-25H
m3 2.0
iR = 0. 4%5=2. 0 MR GREERY)
m 2.0 | PNAR175mm
E7Si1] BiEsHRaRA (1. 49%0. 995/1000) ¥5=0. 0074 SD345 D13
BEssisRm (1. 49%0. 995/1000) %5=0. 0074 0. 0074+0. 0074=0. 015 t 0.015
FHELZ L 0. 015%0. 1%5=0. 0075 BEY R
m3 0.0075
FetEAD 0. 015%0. 3%5=0. 0225 BEY R
m3 0. 0225
FHB  t=10mm 0. 5%10=5. 0
m2 5.0
Tl 0. 5%10=5. 0
m2 5.0
SEtE 0. 51%10=5. 1 RC40

m2 5.1
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Rt RE No. 2
(| B =X B K & ik
E—A 31. 8%6=190. 8 L=4330
kg 190. 8
Xk 25. 9%11=284. 9 L=2100
kg 284. 9
AL AN 0.9%11=9. 9
kg 9.9
&t

190. 8+284. 9+9. 9=485. 6 (kg)

0. 486




